
D-5218 P.T.O.

KeC[ - De

(Jemlegefve‰ ØeMve)

SECTION - A

(Objective Type Questions)

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ

keâe nQ~   1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. efjkeäle mLeeve YejW :

Fill in the blanks type :

D-5218

      (2)Printed Pages – 14

D-5218

M.A. (Ist Semester) Examination, 2020

HISTORY

(History of China and Japan 1800-1911 AD)

Time Allowed : Three Hours

Maximum Marks : 70

(i) Ûeerve ________ ceneÉerhe ceW efmLele nw~

China is situated in ________ continent.

(ii) heesš&dmeceeGLe keâer mebefOe ________ Je<e& ceW ngF&~

The Treaty of Portsmouth in _______ year

held.

(iii) ØeLece Ûeerve-peeheeve Ùegæ ________ F&. ceW ngDee~

First China-Japan war held in ________ AD.

(iv) Ûeerve keâer 1911 keâer ›eâeefvle kesâ heMÛeeled Ûeerve keâe ØeLece

DemLeeF& je°^heefle ________ yevee~

_________ became the first permanent

President of China after the 1911 revolution

of China.

(v) yee@keämej efJeõesn ________ Øeeble mes ØeejbYe ngDee~

The Boxer Rebellion began in _______

province.
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yengefJekeâuheerÙe ØeMve :

Multiple choice type :

(vi) keâescees[esj hesjer efkeâme osMe mes mebyebefOele Lee :

(De) Ûeerve

(ye) peeheeve

(me) mebÙegkeäle jepÙe Decesefjkeâe

(o) ¤me

Commodore Perry was related to which

country :

(a) China

(b) Japan

(c) United States of America

(d) Russia

(vii) Deebiue-peeheeve mebefOe ngF& :

(De) 1901 F&.

(ye) 1902 F&.

(me) 1903 F&.

(o) 1904 F&.

Anglo-Japan Treaty held in :

(a) 1901 AD

(b) 1902 AD

(c) 1903 AD

(d) 1904 AD

(viii)yee@keämej Øeesšeskeâe@ue hej nmlee#ej ngDee :

(De) 1901 F&.

(ye) 1902 F&.



(5) (6)

D-5218 P.T.O. D-5218

(me) 1903 F&.

(o) 1904 F&.

The Boxer Protocol was signed in :

(a) 1901 AD

(b) 1902 AD

(c) 1903 AD

(d) 1904 AD

(ix) efkeâmeves keâne Lee — ‘‘SefMeÙee keâer Meefòeâ Éeje Ùetjeshe keâer

Meefòeâ keâes ØeLece yeej hejeefpele keâjves kesâ ¤he ceW ¤me-

peeheeve Ùegæ mcejCeerÙe nw~’’

(De) efjÛee[& mšesjer

(ye) Ùeeke&âMeen

(me) [esveeu[ meer.

(o) [wvesš

Who told – ‘‘The Russo-Japan war is

memorable as the first to defeat the power

of Europe by the power of Asia :

(a) Richard Story

(b) Yarkshah

(c) Donald C.

(d) Dainet

(x) ‘legbie ceWie ngF&’ veecekeâ mebmLee efkeâmekesâ vesle=lJe ceW mLeeefhele

ngF& :

(De) meveÙeele mesve

(ye) ÛÙeebie keâeF& Meskeâ



(7) (8)

(me) ceeDeeslmes legbie

(o) jeveer lpet nmeer

‘Tung-Meng-Hui’ was founded under whose

leadership :

(a) Sunyat Sen

(b) Chaing Kai Shek

(c) Mao-Tse-Tung

(d) Queen Tzu-Hsi

(xi) veeveeEkeâie keâer mebefOe efkeâme F&mJeer meved ceW ngF& Leer :

(De) 1840 F&.

(ye) 1841 F&.

(me) 1842 F&.

(o) 1843 F&.

In which AD was the Treaty of Non-King :

(a) 1840 AD

(b) 1841 AD

(c) 1842 AD

(d) 1843 AD

(xii) ¤me-peeheeve Ùegæ keâye ngDee Lee :

(De) 1902-03 F&.

(ye) 1904-05 F&.

(me) 1906-07 F&.

(o) 1899-1901 F&.

When was the Russia-Japan war :

(a) 1902-03 AD

(b) 1904-05 AD

(c) 1906-07 AD

(d) 1899-1901 AD
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KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 2 Debkeâ

nQ~ 5×2=10

Note : Attempt any five questions. Each question carries

2 marks.

Q. 2. Deefle ueIeg GòejerÙe (25-30 MeyoeW ceW) :

Very Short Answer Type (25-30 words) :

(i) ‘Ûeerveer lejyetpe keâer yeebš’ mes keâewve mes osMe pegÌ[s Les ?

Which countries were associated with the

‘Partition of Chinese Watermelon’ ?

(ii) F&Jeekegâje efceMeve keäÙee Lee ?

What is the Iwakura mission ?

(iii) ‘cesF&peer’ mes keäÙee leelheÙe& Lee ?

What was the meaning of Meiji ?

(iv) peeheeve ceW ÙetjesefheÙeeW kesâ ØeJesMe keâe cetue GösMÙe keäÙee

Lee ?

What was the main object of the Europeans

in entry of Japan ?

(v) peeheeve keâe DeewÅeesieerkeâjCe cetuele: efkeâme keâejCe mebYeJe

ngDee ?

What made industrialization of Japan

basically possible ?

(vi) Kegues Éej keâer veerefle keäÙee Leer ?

What was the open door policy ?

(9) (10)
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(vii) cebÛet JebMe kesâ heleve keâe cegKÙe keâejCe yeleeÙeW~

Give the main reasons for the decline of

Manchu dynasty.

KeC[ - me

SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 4 Debkeâ

nQ~ 5×4=20

Note : Attempt any five questions. Each question carries

4 marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 MeyoeW ceW) :

Short Answer Type (250 words) :

(i) [e@. meveÙeele mesve keâe Ûeefj$e-efÛe$eCe keâjW~

Illustrate the character of Dr. Sunyat Sen.

(ii) leeFeEheie efJeõesn keäÙee Lee ? mecePeeSB~

What was the Taiping Rebellion ? Explain.

(iii) peeheeve kesâ DeeOegefvekeâerkeâjCe hej ØekeâeMe [eefueÙes~

Throw light on the modernisation of

Japan.

(iv) Meesietve JÙeJemLee hej ØekeâeMe [eefueÙes~

Throw light on Shogoon system.

(v) Deebiue-peeheeve mebefOe ves efJeMJe jepeveerefle hej keäÙee ØeYeeJe

[euee ?

What effect did the Anglo-Japan Treaty have

on world politics ?

(vi) leeFeEheie efJeõesn keäÙee Lee ? mecePeeSB~

What was the Taiping Rebellion ? Explain.
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(vii) [e@. meveeÙele mesve keâe Ûeefj$e-efÛe$eCe keâjW~

Illustrate the character of Dr. Sunyat Sen.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 10

Debkeâ nQ~

3×10=30

Note : Attempt any three questions. Each question carries

10 marks.

Q. 4. efveyebOeelcekeâ ØeMve (500 MeyoeW ceW) :

Essay Type Questions (500 words) :

(i) ØeLece DeHeâerce Ùegæ keâer meefJemleej JÙeeKÙee keâjW~

Explain in detail the second opium war.

(14)
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(ii) ¤me-peeheeve Ùegæ kesâ keâejCe Deewj heefjCeece yeleeÙeW~

Discuss the causes and results of the

Russia-Japan war.

(iii) Meesiegve JÙeJemLee kesâ Deble Deewj cesFpeer hegvemLee&hevee hej

ÛeÛee& keâjW~

Discuss the end of the Shogun system and

the Meiji Restoration.

(iv) 1911 F&. kesâ Ûeerveer ›eâebefle kesâ keâejCeeW keâer JÙeeKÙee keâjW~

Discuss the causes of the Chinese revolution

of 1911 AD.
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